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درجات ( 10)                                                     رمز الإجابة الصحيحة فيما يليضع دائرة حول : السؤال الأول   
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( درجات 5 )                                                                                                         سؤال الثاني : ال  
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( درجات 5 )                                                                                                          السؤال الثالث :  
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( درجات 5 )                                                                                                          السؤال الرابع :  
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( درجات 5 )                                                                                                       السؤال الخامس :  
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